g g) & a a Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
4,242 x 100 = 3,36 x 100 =
2,226 x 100 = 10, 163 x 10 =
9,172 x 1000 = 8,477 x 100 =
6,253 x 10 = 6,801 x 1000 =
2,621 x 10 = 8,12 %10 =
2,508 x 10 = 10, 84 x 1000 =
9,882 % 10 = 8,912 x 1000 =
5,494 x 100 = 4,511 x 100 =
7,267 x 100 = 8,397 x 100 =
9,55 % 100 = 9,437 x 100 =
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g & a g Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
4,242 x 100 = 424.2 3,36 x 100 = 336
2,226 x 100 = 222.6 10,163 x 10 = 101.63
9,172 x 1000 = 9172 8,477 x 100 = 847.7
6,253 x 10 = 62.53 6, 801 x 1000 = 6801
2,621 x 10 =26.21 8,12 x10=281.2
2,508 x 10 = 25.08 10, 84 x 1000 = 10840
9,882 x 10 = 98.82 8,912 x 1000 = 8912
5,494 x 100 = 549.4 4,511 x 100 =451.1
7,267 x 100 = 726.7 8,397 x 100 = 839.7
9,55 x 100 = 955 9,437 x 100 = 943.7
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